Year 5 Homework, Autumn Term Week 10 1
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7x3 =
8x4 =
7 x 100.
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843 + 34 =
33211 =

Maths: Speedy Six

What is half (1/2) of 8?
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8843 + 334 =

9332 - 411 =

7x8 =

66 + 11 =

Multiply 78 by 100.
What is 50% (half) of 80?

Keep practising your times tables. /

Theme Homework — Due 6t December
Continue your Egyptian project. See the extra sheet for more detailed instructions.

Spellings

cry
fly
dry
try
reply
sky

\

sentence.

Colin keeps

my [ her

thelr | him

his [ it

its | them

J

\_

ﬁptional SPAG guestion (1 housepoint if \
completed)

Read the sentence below. Tick one box to show the pair of pronouns which best completes the

boat in the boatyard and sails at the weekend.
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Homework is due in on 6" December



